Transfers Report

This report contains the transfers results.

Contest Name
Ward 6 Pollokshields

Valid Votes
Positions to be Filled
Quota

4
2,058

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
lain CAMERON	UKIP	98
Ewan HOYLE	Scottish Liberal Democrats	302
Norman MACLEOD	Scottish National Party (SNP)	2,504
David MEIKLE	Scottish Conservative and Unionist	2,370
Jon MOLYNEUX	Scottish Green Party	1,399
Hanif RAJA	Glasgow Labour	1,552
Nighet RIAZ	Scottish National Party (SNP)	1,222
Fariha THOMAS	Glasgow Labour	841
	Total	10,288

Candidate Norman MACLEOD Elected with 2,504 votes, being in excess of the quota of 2,058 Candidate David MEIKLE Elected with 2,370 votes, being in excess of the quota of 2,058

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Norman MACLEOD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Iain CAMERON	14	0.17811	2.49354
Transfer to Ewan HOYLE	52	0.17811	9.26172
Transfer to Norman MACLEOD	0	0.00000	0.00000
Transfer to David MEIKLE	0	0.00000	0.00000
Transfer to Jon MOLYNEUX	352	0.17811	62.69472
Transfer to Hanif RAJA	106	0.17811	18.87966
Transfer to Nighet RIAZ	1,799	0.17811	320.41989
Transfer to Fariha THOMAS	44	0.17811	7.83684
Value of non-transferable ballot papers			24.41363
	Total		446.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of David MEIKLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Iain CAMERON	241	0.13164	31.72524
Transfer to Ewan HOYLE	544	0.13164	71.61216
Transfer to Norman MACLEOD	0	0.00000	0.00000
Transfer to David MEIKLE	0	0.00000	0.00000
Transfer to Jon MOLYNEUX	158	0.13164	20.79912
Transfer to Hanif RAJA	275	0.13164	36.20100
Transfer to Nighet RIAZ	55	0.13164	7.24020
Transfer to Fariha THOMAS	223	0.13164	29.35572
Value of non-transferable ballot papers			115.06656
	Total		312.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Iain CAMERON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ewan HOYLE	2	0.17811	0.35622
Transfer to Ewan HOYLE	59	0.13164	7.76676
Transfer to Ewan HOYLE	23	1.00000	23.00000
Transfer to Norman MACLEOD	0	0.00000	0.00000
Transfer to David MEIKLE	0	0.00000	0.00000
Transfer to Jon MOLYNEUX	2	0.17811	0.35622
Transfer to Jon MOLYNEUX	12	1.00000	12.00000
Transfer to Jon MOLYNEUX	19	0.13164	2.50116
Transfer to Hanif RAJA	18	0.13164	2.36952
Transfer to Hanif RAJA	12	1.00000	12.00000
Transfer to Nighet RIAZ	6	1.00000	6.00000
Transfer to Nighet RIAZ	2	0.13164	0.26328
Transfer to Nighet RIAZ	3	0.17811	0.53433
Transfer to Fariha THOMAS	14	0.13164	1.84296
Transfer to Fariha THOMAS	10	1.00000	10.00000
Value of non-transferable ballot papers			53.22833
	Total		132.21878

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Ewan HOYLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Iain CAMERON	0	0.00000	0.00000
Transfer to Norman MACLEOD	0	0.00000	0.00000
Transfer to David MEIKLE	0	0.00000	0.00000
Transfer to Jon MOLYNEUX	126	1.00000	126.00000
Transfer to Jon MOLYNEUX	133	0.13164	17.50812
Transfer to Jon MOLYNEUX	25	0.17811	4.45275
Transfer to Hanif RAJA	2	0.17811	0.35622
Transfer to Hanif RAJA	99	0.13164	13.03236
Transfer to Hanif RAJA	66	1.00000	66.00000
Transfer to Nighet RIAZ	10	1.00000	10.00000
Transfer to Nighet RIAZ	9	0.13164	1.18476
Transfer to Nighet RIAZ	12	0.17811	2.13732
Transfer to Fariha THOMAS	4	0.17811	0.71244
Transfer to Fariha THOMAS	87	0.13164	11.45268
Transfer to Fariha THOMAS	52	1.00000	52.00000
Value of non-transferable ballot papers			109.16021
	Total		413.99686

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Fariha THOMAS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Iain CAMERON	0	0.00000	0.00000
Transfer to Ewan HOYLE	0	0.00000	0.00000
Transfer to Norman MACLEOD	0	0.00000	0.00000
Transfer to David MEIKLE	0	0.00000	0.00000
Transfer to Jon MOLYNEUX	78	1.00000	78.00000
Transfer to Jon MOLYNEUX	22	0.13164	2.89608
Transfer to Jon MOLYNEUX	10	0.17811	1.78110
Transfer to Hanif RAJA	9	0.17811	1.60299
Transfer to Hanif RAJA	154	0.13164	20.27256
Transfer to Hanif RAJA	656	1.00000	656.00000
Transfer to Nighet RIAZ	43	1.00000	43.00000
Transfer to Nighet RIAZ	8	0.13164	1.05312
Transfer to Nighet RIAZ	22	0.17811	3.91842
Value of non-transferable ballot papers			145.67637
	Total		954.20064

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Hanif RAJA

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Iain CAMERON	0	0.00000	0.00000
Transfer to Ewan HOYLE	0	0.00000	0.00000
Transfer to Norman MACLEOD	0	0.00000	0.00000
Transfer to David MEIKLE	0	0.00000	0.00000
Transfer to Jon MOLYNEUX	413	0.13482	55.68066
Transfer to Jon MOLYNEUX	119	0.01774	2.11106
Transfer to Jon MOLYNEUX	22	0.02401	0.52822
Transfer to Hanif RAJA	0	0.00000	0.00000
Transfer to Nighet RIAZ	486	0.13482	65.52252
Transfer to Nighet RIAZ	54	0.02401	1.29654
Transfer to Nighet RIAZ	21	0.01774	0.37254
Transfer to Fariha THOMAS	0	0.00000	0.00000
Value of non-transferable ballot papers			195.20277
	Total		320.71431

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Nighet RIAZ

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Iain CAMERON	0	0.00000	0.00000
Transfer to Ewan HOYLE	0	0.00000	0.00000
Transfer to Norman MACLEOD	0	0.00000	0.00000
Transfer to David MEIKLE	0	0.00000	0.00000
Transfer to Jon MOLYNEUX	13	0.01774	0.23062
Transfer to Jon MOLYNEUX	13	0.02401	0.31213
Transfer to Jon MOLYNEUX	33	0.13164	4.34412
Transfer to Jon MOLYNEUX	125	0.13482	16.85250
Transfer to Jon MOLYNEUX	1,065	0.17811	189.68715
Transfer to Jon MOLYNEUX	763	1.00000	763.00000
Transfer to Hanif RAJA	0	0.00000	0.00000
Transfer to Fariha THOMAS	0	0.00000	0.00000
Value of non-transferable ballot papers			710.51640
	Total		1,684.94292